
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

Complete Spare Parts List of  

Martin MC-X Controller 

 

90718200 MC-X Controller 230-245V/50Hz 

02005411 Single Chip Controller  89C2051, SMD 

02050120 74 HCT 4051P  8-1 MUX    ,SMD 

02105205 L7805  5V/1A Voltage Stab , SMD 

02121805 75C176 BiCMOS RS485 Transceiver SMD 

04000160 100nF, 50V, ceramic 

04040252 2200uF, 25V, electrolytic, radial 

04050217 27pF, 63V, ceramic, SMD 

04051160 100nF, 16V, ceramic, SMD 0603 

04082112 1uF, 16V, tantalium, SMD 

04150000 0 Ohm Resistor 

04150308 120 Ohm Resistor 

04170000 0 OHM RESISTOR, SMD 

04170308 120 Ohm resistor, SMD 

04170416 1K5 Ohm resistor, SMD, 1206 

04171132 2.2 OHM RESISTOR, SMD   0.25W 

04176372 560R OHM RESISTOR, 1% 1/10W, SMD 0603 

04176500 10K OHM RESISTOR, 1% 1/10W, SMD 603 

04190203 10K Ohm 1.6 Watt Resistor 

04190303 100 Ohm 2 Watt Resistor 

04302001 Bridge rectifier 1.5A/600V 

04307002 6V8, diode transil 

04307004 Diode transil, 10V 

04310002 LED 3mm Red 

04350014 X-tal 16MHz 

04500006 Transformer, 2x110V/10.5V/ 1VA PCB 

05123001 XLR female 3-pin chassis, PCB, angle, gold 

05144004 Header 4 pole, 2.54mm, PCB , coded 

05144160 Plug 40 pole angle PCB sil 

05147001 Mains socket, PCB ,male I.E.C. 

05149001 Spade plug 6.3mm male , PCB 

05323524 Plug, female angle, wire, 4 pol e, natural, 0.20-0.22# 

05343201 XLR male 3-pin cable type, black, metal 

05501202 Tact Switch SMD   h = 7.0mm 

05550003 Knob for Tact switch , black , SMD 

08050702 M3x6 screw, Torx, ph, black 

08050802 M3x6 screw, Torx, cs, black 

08052601 M3 hex nut, black 

08053807 M3x10 stand off, m/f, black 

08054401 M3 lock washer, black 



08070501 M4x10 taptite, Phillips, cs, black 

08190202 3.5x6.3 self-tap, Phillips, ph, black 

08190203 3.5x8 self-tap, Phillips, ph, black 

08200102 2.9x6.5 Plastite, ph, black 

08200107 5x12 Plastite, ph, black 

11040523 Wire, yellow/green, 1x0.75#, 11cm 

11501012 Mains cable I.E.C. 3pin, 1.5 m, Black 

11700004 Wireset 4x0.14# ,2 fem. plugs, Black 

11820008 XLR cable 5m black 3P male-3P female 

15460001 1x0.7mm jumper wire 

26641120 Bottom chassis, MC-X controller 

26641130 Cover, MC-X controller 

26641140 Front plate, MC-X controller 

26641150 Cover for holes. MC-X controller 

32020500 Rubber foot 3.6x12.7mm Black 

33300500 Felt pad   Ø 7.5mm x 0.7 

34000063 Cardboard box MC-X 

34100505 Cardboard inlay MC-1 

34240004 PLAST BAG  300x600 

35000081 User manual, MC-X 

37000201 Sikaflex 521, clear, 90°C 

62010013 PCB, mainboard, MC-X controller 

62011507 #PCB  PSU, MC-Series, 230V 

62203170 Wire for PCB, MC-1 

62400154 Knob with feltpad 

91613017 Termination Plug XLR , male , 120 Ohm 

 

 

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 


